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Ase check the Test Booklet and ensure that it contains all the 1560 questions.
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The test booklet consists of 160 questions. Part A contains 50 questions and
Part B contains 100 questions. Each question carries 1 mark.
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. The Question Paper is set in English and translated into Telugu language. The
English version will be considered as the authentic version for valuation purpose.
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PART - A

1. The construction of g dam across the

2,

3.

4.

ver Tungabhadra and diverting the
waters of the river into the city ©
Vljayanagnra 1s regarded as one of the
most remarkable irrigation works in
South India, Who constructed this dam ?

(1) Bukka -1 and Devaraya — I

(2) Harihara - IT and Kumara

Kampana
(8) Harihara - I and Marappa

(4) Bukkaraya - I and Harihara - 1II

Buad Transport in Andhra Pradesh
18 traced to the efforts of the Nizam

of Hyderabad in 1982. After the end
of the Nizam's rule, it was named as
Andhra Pradesh State Road Transport

Corporation (APSRTC) in the year
(1) 19560

(2) 1958
(38) 1947
(4) 1956

The cases involving an interpretation
of the Constitution fall within which
of the following jurisdictions of the
Supreme Court ?

(1) Original Jurisdiction
(2) Advisory Jurisdiction
(3) Appellate Jurisdiction
(4) None of the above

According to the Constitution, the
contingency fund of the State is placed
at the disposal of the

(1) Governor

(2) State Finance Minister
(3) Chief Minister

(4) State Legislature

VSVAA
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5. The Fundamental Rights of a Citizep

can be suspended

(1) By the Parliament through
a law enacted by two-thirds
majority

(2) By the President during a
national emergency

(3) By the Supreme Court

(4) None of the above

6. Which of the following disease can be
transmitted from one person to another

through vectors ?
(1) Chikungunya
(2) Hepatitis B
(3) HIV-AIDS
(4) Goitre

7. Which of the following is a threat for
electronic payment systems ? |
(1) Computer Virus
(2) Computer Worms
(3) Trojan Horses

(4) All of the above I

8. Which among the following is not an
application of the INSAT system ?

(1) Telemedicine

(2) Disaster management
(3) Astronomy

(4) Meteorology

9. Which of the following mis slile systems

has the longest range ?
(1) Pritvi —III
(2) Agni-VI
(3) Barak -1 .
(4) Nirbhay

VSVAA
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10. Which of t},

application of LASER ?
(1) LASIK

(2) LIDAR
(3) Holography
(4) MRI

fnlluwing 1S not an

11. Andhra Pradeshisaland of many rivers
and is popularly called as a “Riverine
State”. Out of the rivers given below,
which of the following are interstate
rivers with Telangana ?

A. Pennar

B. Budameru
C. Errakalava
D. Tammileru

(1) Aand B

(2) A,Band C
3) B,Cand D
(4) A,B,CandD

12, Which of the following are the Health
Schemes implemented by the Dr. YSR
Aarogyasri Health Care Trust ?

A. Dr. YSR Aarogyasri for below the
poverty line families

B. 104 Seva Kendram
C. Ayushman Bharat

(1) A only

(2) Aand B
(3) Band C
(4) A,Band C
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Recently, India has shown interest to
ratify Cape Town Agreement (CTA)
adopted by the International Maritime
Organization (IMO). The agreement is
related to

(1) Safety of fishing vessels

(2) Anti-maritime piracy

(8) Securing International Trade

routes
(4) Cargo Ships

13.

14. As per the provisions of the Code on

Wages, 2019 which of the following

is not included in the wages paid to a
labour ?

(1) Basic Pay

(2) Overtime Allowance
(3) Dearness Allowance
(4) Retaining Allowance

15. Inthe context of COVID -19, flattening
the curve would mean

(1) Determining the number of new
infections caused by one infected
individual

(2) Health conditions which arise
out of compromised immune

systems : [

(3) Giving special attention to
prevent the disease among the
old and vulnerable |

=

7

(4) Reducing the number of new

cases day on day so that the
health infrastructure is not
strained

VSVAA
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Directions (Q. No. 16 - 18) : Refer to the
graph and answer the given questions.
The number of projects handled by two
Companies (M and N) from 2016 to 2020

8

VSVAA

MPSSer (16-18) : e $08 (TP $08Dod
BEHLKH BN HErgrred o8t

M 508050 N e5d gomen 2016 Koo 2020 S8
DGrod (rRgen

— - e ——

400 T

350

300

230 p

200 p

150 }

100 &

80

| 2016 2017 2018

g || o=l N

2019 2020

16. Out of the total number of projects
handled by company M in 2018 and
2019 together, 20% were Governmental
projects. What was the total number
of governmental projects handled by
company M in 2018 and 2019 together ?

(1) 135
2) 215
(3) 118
(4) 122

17. Number of projects handled by company N
decreased by what percent from 2017
to 2019 ?

(1) 26%
(2) 32%
(3) 50%
(4) None of these

16. 2018 558010 2019 Hon 50 3o M o0
A0S D EgHed” 20% a0y EKe.
©wond 2018 So8akw 2019 Son €9 M
502 ATV DGO @RYH I, ?

(1) 135
2) 215
(3) 1187
(4) 122

17. 2017 H00é 2019 565 N 802 JEEToD
@“é%ﬁ:éﬁ 208 T*H0 BHG® &0l 7
(1) 25%
(2) 32%
(8) 50%
(4) IR D,

(D)

www.eenadupratibha.net



www.eenadupratibha.net

18. If the number of projects handled by
company ‘M’ increases by 30% from
2020 to 2021 and by 10% from 2021
to 2022, what will be the number of

projects handled by company M in 2022 ?
(1) 487
(2) 429
(3) 356
(4) None of these

Directions (Q. No. 19-20) : Study the
following information and answer the
given questions. Eight children A, B, C,
D, E, F, G and H have different heights,
not necessarily in the same order. C is the
tallest child. H is taller than only F. E is
shorter than only four children. A is taller

than E but shorter than G. D is taller than E.
G 1s taller than D.

19. How many children are taller than B ?
(1) Four
(2) Three
(3) Five
(4) None of these

20. Which one of the following is the third
Sh::-_rtest T

(1) B
(2) E
3 H
(4) D

VSVAA

18. 2020006 2021 57008° M’ 50255 Nlo ety
8 30% DG 2021 S50d 2029
oedS 10% D060 €08, 2022 $onis® M
K020 ATV (PR A, ?

(1) 487
(2) 429
(3) 396
(4) P D %
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2) E
(3) H
4 D
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21. Wﬁhich of the following pairs of
I_{mgdnms and their capital are
incorrectly matched ? |
(1) Pandya Kingdom : Madhuratl
(2) Chera Kingdom : Kaveripattanam
(3) Chola Kingdom : Uraiyur
(4) All of the above

22. In the context of the administration of
Delhi Sultanate, ‘Diwan-i-Arz’ refers to
which of the following departments ?

(1) Military department
(2) Ecclesiastical department
(3) Correspondence department

(4) Finance department

93. The Brihadeswara temple at Thanjavur
was built by the
(1) Chalukyas .
(2) Cholas . |
(3) Pallavas |
(4) Pandyas

94. The journal “Deen Bandhu” in Marathi |
was published by
(1) Mahatma Gandhi
(2) Jyotiba Phule
(3) Shahu Maharaj
(4) E. V. Ramaswami Naicker

25. The Swadeshi Movement took place in
India during
(1) The Champaran Satyagraha of
Gandhi
(2) The Anti-Bengal partition
agitation |
(3) The protest against the Rowlatt

Act
" (4) The Non-Cooperation Movement

| 23.
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96. Which of the following ports of Andhra | 26. esoSEaeS” &4 Eod DB (Port) “5‘5'235

VSVAA

Pradesh are classified as ‘Captive Qﬁdgw s &')ég@oﬂ‘db.
Ports’ ? Fy 55533‘;’.‘;)'“5 g‘)ﬁé

A. Narsapur Port .l 35.;,

B. ilamlilyapatna; 1]E;':r::urt c 33;,3;,50‘5)5@‘

. Meghavaram For >

g. Na]fkapalli Port D. 5539 5

(1) Aand B. (1) A a’n@o:i?: B )

(2) Band C (2) B3o8axt» C

(3) Cand D (3) C :00%0 D

(4) Band D (4) B 50060 D

97. The Kakinada — Srikakulam Natural | 27. s°$5G-85°50¢0 R PSS @880 I3

Gas Pipeline Project is being executed by DSETRGTNED 2
(1) %EIE;; E‘:}f;astructure (1) 2. g5 28 ggP SEBSS
(2) AP Gas Distribution Corporation (2) .. 7R &@w5$ 5563050
(3) Oil and Natural Gas Corporation (3) 00 $0800 THUS e SEBRS
Limited 292 5E -
(4) Natural Gas Transmission

Company (4) TGES R EPQHDS Lo

28. The Government of Andhra Pradeshhas | 28. eso @04 (Pe0dso duasHGo erd'

proposed to develop a new Greenfield S S0 Sookeod® @Dagéém AS ﬁ;i’
Intematinnalﬁjrpurt 5_11;- Bhuga}]urfim DITFFAT H@;JJ% SETOR AFooIOB.
Maﬁnd:ill of lf'ljaylanagaram District. 5 JoEIN6Ss B\ 5,8 3555 9
This airport is being developed by =

(1) Airports Authority of India (1) DoobFE 0] es9 04T

(2) Bhogapuram Airport

Corporation Limited (2) SHto JowdF 8050 OWSE

(3) Andhra Pradesh Airports (3) So(SEDT JodIFE) BeSAc0es
D.ev.elupment Corporation 6855 OW0E
Limited
(4) Megha Engineering and (4) o 3eBA00A JBCH NP EH0
Infrastructure Limited OW3E
(D)
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29. Ministry of Labour and Employment
is not implementing which of the
following Schemes ?

(1) Pradhan Mantri Rojgar Protsahan
Yojana (PMRPY)

(2) Pradhan Mantri Laghu Vyapar:
Maan-Dhan Yojana

(3) Deendayal Antyodaya Yojana
— National Urban Livelihoods
Mission

(4) National Child Labour Project

30. Recently the Central Government
launched Jeevan Kaushal. Jeevan

Kaushal 1s |
(1) A curriculum for life skills

(2) Guidelines for Healthy Living
(3) Balanced diet for Mid-day-meal

Scheme
(4) Creating green spaces in Urban

areas

31. Lx7440_2
6 5
(1) 850
2) 740
(3) 560

(4) 780

x ? =560.

32. Find the missing number in the
following number series.

12, 13, 16, __, 28, 39.
(1) 18
2) 24
(3) 21
4) 19

12

VSVAA

5005 &0 SO

29, Sois BenHso 5768
&5 (©e0850 S0y 0/ 3

Ko0(Beh; Top 300 FoH S
%
(1) Eeres0d osyob (s O

(2) BSErRS0O OW T I0 L 30 5¢50 COT°E

(3) BSGaIrS oS0l ATE Rl
eatyS AT Q5O

(4) 2B ero S0 3¢50~

30, geSse Bogs Benso BSSTHE' GO SEET)
- GoDoRod. B &g¥o
(1) £5% PYETE TTET
(2) esE e 25 Seeo
(8) XoB0dB SogrgTy 25%03:5 %o
(4) SeeTos® HigEs 0T Ioes

1K7440—ix?=560.

6 5
(1) -850

(2) 740
(3) 560
(4) 780

31.

32, 12,13, 16, -, 28. 39 Qodyoh HSowb
D3 9

(1) 18
(2) 24
(3) 21
(4) 19
(D)
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33. The difference between 499

34.

39.

36.

317.
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of a
number and 24% of the same numbey

is 378. What is 65% of that numbey ?
(1) 1465
(2) 1560
(3) 1450
(4) 1365

The average age of mother and hep
daughter1s 18 years. The ratio of thejy

ages1s 5: 1. What is the daughtey’s age
after 5 years ?

(1) 12 years
(2) 13 years
(3) 11 years
(4) 15 years

A person 1n a car travels at the speed
of 76 km/hr and reaches his destination
in 5 hours. In order to cover the same

distance by bike in 4 hours, at what
speed he has to travel ?

(1) 85 km/hr
(2) 80 km/hr
(3) 95 km/hr

(4) 90 km/hr

The salaries and allowances of the
members of the Council of Ministers
In a State are determined by

(1) The State Legislature

(2) The Governor in consultation

with the President
(3) The Parliament
(4) The President

Who of the following laid the foundation

stone for the Visakhapatnam Steel
Plant ?

(1) Justice A, N. Ray
(2) Indira Gandp;
(3) B.D. Jatt;

4) V.V. Gip

13

| 39.

33.

34.

36.

VSVAA

0.8 905" 42% So0atn 24%
90008 €3 ﬁma:é-cﬁﬁ 65% o 9
(1) 1465
(2) 1560~
(3) 1450
(4) 1365

o6y Bez 378.

ﬁjg 0000 &0 Hornd L'Jﬁﬁﬁjra 18 ol

8 HANRY JNG SO 5 : 1. e10098 5 S0
"D ETBE 0Ky Jots 9

(1) 12 Sou
(2) 13 S
(3) 11 o
(4) 15 Do

3 578" Ko 76 %%mgﬁm@“ 5 Ko

M50 DEOTCE). 9> Ko On 56525
4 foués 350?@023 0B DS’ @Oﬁiéo;%% &0
€008 2 -

(1) 85 &.2u./%0.
(2) 80 &.v./Ko.
(8) 95 &.2u./Ko-
(4) 90 &.2u./%0.

2.5
(h[J)

T8 S00@ Sootd 26 Lersy Ao
AN ?

(1) oy a5

(2) TERE JoPBODS M5
(3) DrgRooes,

(4) TP

37. ITPen0 &), SOFZH FoHI BHIO.,

(1) 23R 2.28.3

(2) Bod goBorod ~
(3) £.4. &)

(4) 2. 10

(D)
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38. Tirumala Tirupati Devasthanams
(TTD) is the official custodian of hill
temple of Lord Venkateswara. The
TTD was established as a result of the
TTD Act in the year

(1) 1932
(2) 1950
(3) 1956
(4) 1952

39. “The first task of this Assembly is to
free India through a new Constitution,

to feed the starving people and to
cloth the naked masses and to give
every Indian the fullest opportunity
to develop himself according to his
capacity.” This quotation was given by
(1) Pandit Jawaharlal Nehru
(2) Dr. B. R. Ambedkar
(3) Dr. S. Radha Krishnan

(4) Dr. Rajendra Prasad

The first Right to Food Legislation was
drafted in which of the following States ?

(1) Chhattisgarh
(2) Tamil Nadu

(3) Orissa
(4) Jharkhand

40.

Directions (Q. No. 41-42) : Read
information/statement given in each question
carefully and answer the questions.

41. Which of the following expressions will
not be true if the expression P2Q=R>S’

is definitely true ? - |

14

(1) Q=P
(2) R<P
38) S>°
(4) Q>S5

VSVAA

38. dSoe ol &) 3{:5’@%’56 QT

ASIrEr 00050 offar @&S“@ﬁﬂﬁ‘be?ﬁii:;:
t65s50 Ao (TTD) 00, TTD =00
SomoBoD Sezdy D B0sEEed D2

(1) 1932

(2) 1950

(3) 1956

(4) 1952

39. orergolt $H8DE S0Ps é@a‘éo “357e5:5 TPe3olo
oo T8 s GRS 359 K)o,
§erd wgrmosed 93 g0 So0aX0 59
T EHANOE B TG0 WED A5eR0 DOV
Ssaen SOOVE0” &) 567,90 A9 ?

(1) $0&S wsTberd VST
(2) =i D.e3b. 2083¢5);0

(3) @ 0. CTHRS
4) i oo BI6

40. 3558 ), SOONT® DL Ao0eIA0ese
O™ HOXTED DOSE
(1) 38350
(2) SBFTC0
(3) 2.0
(4) &3rbpob

the | 2omisden (41-42) : 5400 SI0TrTe)) UGN naN)
BHDH TV BSTTT R HYOBOE.

41. P2Q =R > S «38 adBomr 988
IOV B2 808 @ g 0 ?

(1) Q<P
(2) R<P
3) S>P
(4) Q>S
(D)

www.eenadupratibha.net



www.eenadupratibha.net

ﬁ hich of the following express_iuns
F fn.lrlilrthe expression ‘F <R be definitely
true ?
1(1) F<Q<G<R
(2) R2Q< G2F
3) R2G=Q2F
4) F=Q<G<R

The question given below has a sentence
with a part of the sentence underlined,
Four alternatives for the underlined
part are given. One of them is correct.
[dentify the correct one.

The master tested the new boy to see

if he can read English.

(1) To see if he can be able to read
English

(2) To see if he will read English

(3) To see if he could read English

(4) To see if he can read English

43.

44. Read the paragraph given below.

Earning of profits, is, no doubt, the
main aim of any business. But if
they are earned with principles they
enrich people’s life. As the Jagadguru
Sankaracharya says “all for each and

each for all” should be the motto of an
enlightened men.

In the context of the above paragraph

the sentence “All for each and each for
all” means

(1) All of us should be having
business as our motto

(2) Each of us should be concerned
for highest profit

(3) All businessmen should run
business for theiy own benefit

(4) Everyone in the country should
look for the benefit of all the

VSVAA
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19. éﬂ@ﬂﬁ Daﬁé@gﬁe ‘F<R &9'53”5&35 %'JQJ@UH”
N0 @008 7
(1) F<Q<G<R
2) R2Q<Gz2F
3) R2G=Q2F
(4) F:QEG":R

43. The question given below has a sentence
with a part of the sentence underlined.
Four alternatives for the underlined
part are given. One of them is correct.
[dentify the correct one.

The master tested the new boy to see
if he can read English.
(1) To see if he can be able to read
English
(2) To see if he will read English
(3) To see if he could read English
(4) To see if he can read English

| 44. Read the paragraph given below.

Earning of profits, is, no doubt, the
main aim of any business. But if
they are earned with principles they

enrich people’s life. As the Jagadguru
Sankaracharya says “all for each and

each for all” should be the motto of an
enlightened men.

In the context of the above paragraph

the sentence “All for each and each for
all” means

(1) All of us should be having
business as our motto

(2) Each of us should be concerned
for highest profit

(3) All businessmen should run
business for their own benefit

(4) Everyone in the country should
look for the benefit of all the

others

others

(D)
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45, Tl:ne question given below has a sentence
with a part of the sentence underlined.
Four alternatives for the underlined
part are given. One of them is correct.
Identify the correct one.

They have been working hard and so
hardly they need any assistance from
us.
(1) have been working hardly and
so hardly they need
(2) hardly have been working and |
so hardly they need ‘
(3) have been working hard and so0
they hardly need
(4) have been working hardly and |
so hardly do they need

16

46. Social Mobility is an important element
of any society. Which of the following
are true regarding the characteristics

of Social Mobility ?

A. Transition of an individual or
social object from one position to

another.

B. These positions can be either
higher or lower in the system.

C. This positional movement has
to be recognized by the general

consent of the society.

D. This movement can be from one
social group to another at the

same level.
(1) Aand B
(2) A,Band C
(3) B,Cand D |
(4) A, B,Cand D

VSVAA

45. The question given below hasa ;e:i:ix;;e
with a part of the sentence un de : d
Four alternatives for the underine

part are given.
Identify the correct one.

They have been working hard and so

hardly they need any assistance from

us.
(1) have been working hardly and

<0 hardly they need

(2) hardly have been workin
so hardly they need

(3) have been working hard and so
they hardly need

(4) have been working hardly and
so hardly do they need

g and

46. SR Soso (Social Mobility) &80
572308 2.8 S0P OFE0. RS POV
Cﬁ))gb EllD&Jg EJ&E&D

A. 56§ Soe Frey S w8 RO 300G
$08°8 A SOeTRHo0 VOGO

B. & Joren eBo Sur H5,5 750

C. IR Sodo [0 D& TSR0
IS ale A wed)

D. &2 D850 23 TS DOBS FIrE
S 3006 H08 (PR &otShg)

(1) A S8 B
(2) A, B 55600 C
(3) B, C 55600 D

(4) A, B, C%80x0 D
(D)
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4T

Whiﬂh of the

approPY’

Jati' 10 [ndian society ?
a

—a refers to a vertical
D E;Eic}iﬂcal system and
Jati refers to @ horizontal
hiera rchical system |
Jati 1s an all India cl_asmﬁcatmn
& ¢ hindus on the basis of colour
I;Lml Varna refers to various
~astes and sub-castes which
pave local variatio n
(3) Jatl refers to a vertical
hierarchical system a.nd
varna refers to a horizontal
hierarchical system
Varna is an all India
classification of hindus on the
basis of colour and Jati refers
to various castes and sub-castes
which have local variation

(4)

48, Which among the following areas in

India receives the least rainfall ?
(1) Ladakh
(2) Eastern Ghats
(3) Eastern Rajasthan
(4) Western Tamil Nadu

49, Which among the following is not
true regarding Alluvial Soils ?
(1) They are rich in nitrogen -
(2) They are poor 1n humus
(3) They are highly fertile
(4) They are easy to plough

50, Th‘e rocks in the Himalayan system are
primarily characterised as
(1) Sedimentary
(2) Igneoys
(3) Plutonje
(4) Dyke

following would be the
. to explanation of Varna and

17

47' wﬁéﬁmﬁﬂ

48.

50.

VSVAA

S “aﬁg 300050 27))” &R JoreDH

(y/;gg DO BRTOBS ESTRNG 3553
© 38050 &0 &R0 §8e SIS
mmﬁé :)59“3;3

(2) & D0 @90 gTES S’ Aot
Soif> eTCON™ DS 5086, 9 eidd
Kreren, GRS (Prodak §¢0

(3) @O DO HETOBE TR 5555,
5G W8 §82 HIT0BE FESrRonS
55559

(4) S IO ToHL ol esgonT
$085e3 e 98 K3eren, &K

SroaXd 2350

rSS0F0S” B3 §od 2 @roBod” ©d B
HGaT80 €:082008 ?

(1) ozs—

(2) BT S0

(8) &o&y Tresrs

(4) D30 ST

. 20RO Bo20R0D SO ©oTY

O80B0C. .
(1) @é5ﬁ§3“®3 ;_Lgﬁs 230 &0L008
(2) BB B¥) &otod
(3) Trer TPEI0BE
(4) oS 005

“ TR0 3o SR Hoogg ©FF0

(1) Eﬂlﬁéﬁ o
(2) eofly e
(3) oo Boew

(4). &5 3o
(D)
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PART - B

ol. Seedlessness in fruits is called as
(1) Parthenogenesis
(2) Parthenocarpy
(3) Apomixis
(4) None

52. Middle layer of fruit wall is called
(1) Mesocarp
(2) Mericarp
(3) Meristem
(4) Microbyle

53. Hot water treatment is used to break

dormancy in
(1) Lentil
(2) Cherry
(3) Cotton
(4) None

54. Mode of pollination in maize 1s
(1) Self-pollination
(2) Vegetative propagation
(3) Cross-pollination
(4) None

55. When the pathogen is loosely mixed I

with seed in the form of sclerotia, galls
etc. are called

(1) Infection

(2) Infestation

(3) Contamination

(4) Concomitant contamination

18 VSVAA

| >5- B

51. Sogd’ D GBI 29070 ?
(1) QTR
(2) S“QE-GS“&J |
(3) eFosyo
(4) P S

52. Socs Mo 3¢9 Ae555 DB00eTEHd ?
(1) ¥s~d)
(2) 5363"53
(3) 000
(4) EBS

53. 208 T3S BA AT EIRA MY DaHedd
3 He3 D0 &IDTAILD.

(1) Boe3S
(2) 26

| (3) 38

(4) P S0

54. D% EHS” SONS0S), IO
(1) 2505 So/S505),0
(2) 5§ D05 @’Jﬁ‘tio
(3) &5 J0855
(4) D& ¢

55. 53 )T 30, S 2T 3 608’
| D508’ FOBEEY D00t ?
(1) 3%
(2) )RR
(3) E0erASS
(4) OS5 5 030

(D)
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56. Bio-fuels are obtained from

(1) Vegetable mlm fermented products
of crops

(2) Biomass _
(3) From Renewable energy
(4) Plant waste

57. The scientific study of soil is
(1) Pedology
(2) Earth Study
(3) Soil Science
(4) Soil Chemistry

58. Groundnut pegs when developed in the
soil from

(1) Fruts
(2) Roots

(3) Stems
(4) Tubers

59. White colour of soil is due to the
presence of

(1) Manganese oxide
(2) Silica

(3) Iron |

(4) All of these

60. Soil fertility is reduced due to
(1) Poor drainage
(2) Over irrigation

(3) Continuous cropping
(4) Imbalanced use of fertilizers

56. 235 3067700 D Sood VielatAlwf 2 o)
(1) 0o J072 Soe Sosse DDA0BeI
&0)Be0
(2) 2201°H805°0
(3) DILTHEE B3 oo
(4) 0080 Sgoren

57. Do G308, TRAH SO0 I eoert: 9
(1) woeR
2) 28 3c
(3) Frand Py

(4) FondIQ

58. S0 DY {3@59&‘*01:?:.3 Bm-y.:m Ay
Sleiiival
(1) Do
(2) Soreren
(3) sroto:
(4) &ooden

59. 3063 Do), Be) GorHd B &0e3 00 ?
(1) 37roidR &%
(2) 2Oz |
(3) 280
(4) gy

60. 3 s°Ee0m oS _‘Spg@ﬁ BrHB00 9
(1) COX0ILAND G
(2) @8 3 DKo .

(3) BB S0k
(4) A0 VX0B00g 33011“1‘10

(D)
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61. Under the All India Cnordinatedl
Vegetable Improvement Project

(%ICVIP), India is divided into agro-
climatic zones

(1) 8

(2) 12
(3) 18
(4) 24

62. Which of the following is the controlling
centre of a cell ?

(1) Chloroplast

20

(2) Nucleus |

(3) Nucleolus
(4) Mitochondria

|
63. The parent material transported by
gravity is called
(1) Lacustrine q
(2) Colluvium
(3) Alluvium
(4) None of the above

64. Combination of crop production and milk
production activities is an example of

(1) Competitive |
(2) Complementary

(3) Supplementary
(4) None of the above

65. Diversified farming 1s
(1) Type of farming

(2) System of farming
(3) Both (1) and (2)
(4) None of the above

VSVAA

61. es6 sodor §'-egdas 2EOWS
qoErS00eS rES (Jp20) SO
(TSSO ) Fg 00 TTRHCE
SoociarearT JafRowdd ?

(1) 8

(2) 12
(3) 18
(4) 24

62. 208 35" DB 0 B, JoYo@e? 2o(¢50 2

(1) 5708 Bew)
(2) B0

(3) SossoERw
(4) eS'sPolGorr

63. KSTESE T CTET DADRGH RrelelM
oe30a0S 20830
(1) @5:@35
(2) Sendao
(3) @200
(4) P D)

64. Sob &)Y SobaXkn Jo &B)S SEETIO

ooy 2 &8,

(1) s°00eded
(2) solvotsb
(3) ﬁ;ﬂacmﬁ
(4) DD AN 5%

65. DACHOBH ST a0
(1) Sgdrao SSo
(2) Sgdral Agrdo
(3) (1) 300w (2) Sokiyr
(4) 2 5P

(D)
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66. The deficiency of which of the following
causes poor plant growth and pale

green or yellow leaves ?
(1) Potassium

(2) Phosphorus
(3) Nitrogen
(4) Sulphur

67. Xhaira disease of Rice crop is due to

the deficiency of
(1) Ca
(2) Zn
(3) Fe
(4) Cu

68. “Solanika” is an early maturing

variety of
(1) Rice
(2) Wheat
(3) Maize
(4) Millet

69. “White rust” is an important fungal

disease of

(1) Wheat

(2) Maize

(3) Mustard
(4) Cotton |

66. 308 36" B e‘iﬁﬁml ;‘.‘u:._j: MS’b@ e
POATROTT0 080K B8 eHd) Sor o)
agHR Dﬁg{i@“ﬂm ?

(1) rerapdo

(2) &Rgbo
(3) 3ged

- (4) Hend

67, 50 ot A, Poo T5H8 S0 B 50 2
('1) Ca -
(2) Zn~
(3) Fe
(4) Cu

68. “Ferds” Do), rCoss $85% 8%
(1) Do~
(2) A0
(3) Do Ey

(4) Dogrrged

69. 83300735 B DS ER” &ND &8 D0
HonS el
(1) Resoso
(2) Do, &Dy ~
(3) esaren

4) 58
(D)
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- 70. With reference to agricultural soils,
consider the following statements

e Ahjghcnntentufurgﬁni{:matterinI

soil drastically reduces its water
holding capacity.

-B. Soil does not play any role in the
sulphur cycle. |

C. Irrigation over a period of time
can contribute to the salinization
~ of some agricultural lands.

Which of the statements given above |

is/are correct ?
(1) A and B only
(2) C only
(8) A and C only
(4) A, Band C

71. The branchy part of the tree seen above
the stem is called

(1) Canopy
(2) Cover
(3) Crown
(4) Trunk

72. Which of the following crops would be
~ preferred for sowing in order to enrich
* the soil with nitrogen ?

(1) Wheat

(2) Mustard
g (3) | S“hﬂuwer
ST ) Gram

22

70. Sgoaab Roosd 020500, &2 oD PSR

2839000
A. aﬁJegéG 508050 2
Yooty T°W De3 Jes
e_’;ﬁ;ﬁ;ﬂa&.
2,8 5S° DO JenSos J&

oo w08, ¥OS
Q@
Fisogg e

B. 'S'JEJJS
v elein]ab)

C. §o8 SgHrak Furaed 05 E3ECEI

Eossreo Delthcse 8o D00
255 gD heSdoond” 28 5058/

09 2
(1) A 508050 B S5
(2) C @
(3) A 50800 C S
(4) A, B 5080 C

71, sPotiops §I00D Dey Aoog), Sy a7
D500
(1) 2088
(2) 536
3) &=
(4) (€08 4

72. 3EeI8 50630 SRS HoHEOS B2 @B

506206° D6 B3 DTN Faxiddod ?
(1) Ao
(2) esoren
(3) e3¢~
(4) 5700 TR0
(D)
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73. To which group does the black cotton |
soil of India belong ?

(1) Laterite

(2) Podzol

(3) Chernozem
(4) Sierozem

74. The nitrogen present in the
atmosphere is

(1) of no use to plants

(2) Injurious to plants

(3) directly utilized by plants

(4) utilized through micro-organisms

75. Besides Rabi and Kharif, which is the
third crop season in India ?

(1) Zaid
(2) Barsati
(3) Sharad
(4) Jhum

76. Blind hoeing is recommended for
(1) Wheat
(2) Maize
(3) Groundnut
(4) Sugarcane

77. Gynodioecious varieties

of papaya
produce
(1) Only male plants

(2) Female and hermaphrodite plants
(3) Only female plants

(4) Male and hermaphrodite plants

VSVAA:
73, arOBH0? 50 D8 Jo H R0T°%589)8 ?Jﬂﬁg,é : :
(1) eexges
(2) ¥65
(3) D50
(4) HEBS-

74, TTHE008" &0t SiBd
(1) 005,05 &H5ATKo Sy
(2) 008,05 &G
(3) D0,© TT® Jhor
GQITPAOLICE00

(4) 3578y 290 TXT° &5 RoSeson

75. GROE0E0S" 62 08050 2OTS Jntxs Sy
5082 5°00 eI 2

(1) 286

(2) 25yd
(3) %65
(4) S

76. 2] o& TFowoh

2DaHE8.
(1) A%o%
(2) A0 E°S)
(3) VeHrESK
(4) DK

§%%0 VPG

77, SI00 @, RSEAFLALD E57ed
(1) oK o eo S

(2) e3¢ SoB0x0 wrT7yeFGes Do ed
(3) e5¢s g, e0 SPER

(4) oK Sobakw roryefgel dvgen
(D)
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78. Plant micronutrient is
(1) Carbon
(2) Boron
(3) Magnesium
(4) Sulphur

79. A crop grown in zaid season 1s
(1) Soybean
(2) Watermelon
(3) Jute
(4) Maize

80. Classification of insects and rules of
their nomenclature comes under the

branch

(1) Morphology
(2) Taxonomy

(3) Ecology

(4) Physiology

81. Which is post-harvest disease of
potato ?

(1) Black leg
(2) Sclerotium rot

VSVAA
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| 78, oo drgy IR0
(1) 51535

(2) SO

(3) ohyao
(4) ﬁe:q}s

| 79, 86 v Sokod Do
' (1) Sards
(2) DS AD
(3) &¥ITO-
(4) DoK'

80. derste 3050 $580%0 e TPRECE
DADBTe o HOOS'S ST

(2) 36568 TR0
(3) dseo

(3) Late blight

(4) All of the above I

82. The quality problem for sliced apple
and potato 1s .

(1) Enzymatic browning
(2) Lypolytic rancidity

(3) Hydrolytic rancidity
(4) Putrefaction l

(4) dEasros

81. Soty 5% SO DONTEI0TOL SV T
DAe3 ?
(1) 2z &h
(2) ),Eedobo BiHed
(3) Se5 Joxoey
(4) 23 56° ZJ.R’JQ;')EJ&

82, 300800 DI S S0 BOTTE0SODH
TeEagt D305 A0 ?
(1) doRsore3§ @Aoh
(2) 8838 A
(3) TE'BE Ty
(4) DETES

(D)
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83. Main objective of vegetable blanching is

(1) Inactivation of bacteria

(2) Inactivation of enzymes

84. Criteria for harvesting of citrus fruits

(3) Fixation of color

(4) Removal of tissue gas

18 based on

85. Floods can be prevented by

86. In tractor transmission oil and oil from

87.

(1) Color

(2) Iodine

(3) Percentage of oil

(4) Sugar and acid ratio

(1) Afforestation

(2) Cutting the forest

(3) Tilling the land

(4) Removing the top soil

the steering worm and sector housing
should be changed after how many
working hrs ?

(1) 45

(2) 550
(3) 650
(4) 750

Which of the following types of internal
combustion engine is generally used
as portable engine for pump'ing and
electricity generation ?

(1) Spark ignition
(2) Stationary
(3) Vertical single cylinder

VSVAA

obew 29 o “
83. ;gfg _—— 8 5608 g 0% 0
(1) &S00 Dy oisiso
(2) o500 Ay, ik
(3) TorH G0, 2B&Es
(4) 5820 TAIYR Fofowe,

84, D DG 0TS SS5rePer BN, s
&0LIP0% 7 =
(1) Sofo
(2) BTG
(3) ° T°Bo
(4) 598 B €550 Ay

| 85. 305050 B2 Do Ardoissiy

(1) &&HO NoSEo -

(2) eEDHOB $EEEo

(3) 00D oyt

(4) 0D 5030 SoRoBito

86. €750 EPQNSE’ 52008, §80R 6, S8ty
0 TR Mood B ) 5 Hotsew
ST%S S5°0® 2

(1) 45

(2) 550
(3) 650
(4) 750

87. & $0d TeIS° O woBls SN avoE
eI HoVOR 00K DS &BS
P05 0BT ESATATED 9

(1) 35, afe-
(2) 50 _
(3) VLS HoAS HDocsd

(4) All of these

(4) ';.33’35&
(D)
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88. Which one of the following is not a
secondary tillage tool ?
(1) Disc Plough
(2) Disc Harrow
(3) Mould Board I
(4) None of these

89. Vertical section of plough influences 89.

(1) Pulverization
(2) Depth of cut

(3) Width of cut

(4) Direction of pull

90. The average force that a bullock can | 90
exert

(1) 1/5th of their body weight

(2) 1/10th of their body weight
(3) 1/20th of their body weight
(4) 1/25th of their body weight

91. The major cause for land degradation 91.

in our country 1s
(1) Soil erosion
(2) Pollution of soil
(3) Water-logging
(4) None of the above

92. Deforestation generally decreases 92.

(1) Rainfall

(2) Soil erosion

(3) Drought

(4) Global warming

VSVAA

88. 208 T35 DO BB MO 0 50 7

(1) Gy, =

(2) &%),

(3) $3°F &5 .
(4) De3S° 0 s

00T &0t KO 20 DI (@Her0
D300 ?

(1) $oPB3

(2) §% 0%}, 6
(3) §% Do), e
(4) &R &F

. 5 SAPROBNE e B

(1) 3 368 xS’ 1/5 & S0
(2) wred 386 o9’ 1/10 3 Soid
(3) T3 368 9HS” 1/20 S Sodd
(4) 73 965 xS 1/25 3 Sodo

305 BF0S® 2 S FT S0

(1) do 5

(2) do SR00
(3) De3-erAoh
(4) PN Y

Y AETPR $Q TS 30 BIHED.

(1) Sgrso
(2) D08

(3) s

(4) Ko TN

(D)
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93. Dark coloured soils are considered most | 93. S0 Gord Dowo 2 &dh ENOHS Te3D

fertile as they contain
(1) Gravel and sand
(2) Sand and calcium

(3) Clay and humus
(4) Silt and earthworms

94. The chief cause of accelerated erosion is
(1) Excessive rains
(2) Wind storms
(3) Overfilling and overgrazing
(4) All of these

95. When young plants are grazed too
heavily, they get killed because

(1) The roots are starved
(2) Of the mechanical injury to roots
(3) Most of the aerial parts are eaten

away
(4) All of the above

96. What is the pH value of normal rain ?
(1) 1
(2) 5.6
3) 8
(4) 7

97. The most serious environmental effect
posed by hazardous wastes is

(1) Air pollution
(2) Contamination of groundwater

(3) Increased use of land for
landfills ”

(4) None of these

T P ES0BIORNIT GTFIF 9
(1) 5086 0800 Fiol
(2) Fe08 O E“QQI)Q
(3) 20% Soed SoB0X esos
(4) 2,018 BAKN TRHTKa0e -

04, BAS0BID SBH BT TG0
(1) @88 Ten
(2) ™® S0P
(3) £.50980h So8a% 8567 =0k
(4) 2D o,

95. 56 DO DS oYHBOHPED, @9

H0BIETON JOEOT0ES ?
(1) Soreren dTxSorr Sedto
(2) SoreroH arod¥one &0R oo

(3) TRELH 5080 ermren
SMDANH2EEo

(4) P5Y
96. Jeroses SRS pH ewsd o 9
(1) 1
(2) 5.6
(3) 8
4) 7

97, (SSTSES ST $0 5063 AR SoSCes
a0 &0eod ?

(1) Trodo sPeusso-

(2) 20N eere Koo

(3) 1D Be5> DTS $063 DICAHo
[lelylele

(4) De3S° DB ¢
(D)
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98. What 1'-?. called for the method of
removing dust and other particles
from water using filters ?

(1) Filtration

(2) Sublimation

(3) Rainwater harvesting
(4) Evaporation

99. Each anther has how many pollen sacs ?
(1) Four

28

(2) One
(3) Two
(4) Three

100. What is called for an area surrounding | 100.

a body of water in which that body of
water is subject to ?

(1) Rainwater harvesting
(2) Watershed

(3) Water pumping

(4) Water cycle

101. Who is the father of Plant Pathology in
India ?
(1) E.J. Butler
(2) K.C. Mehta
(3) B.B. Mundakur

(4) R. Prasad

102. Which genus of nematodes has special
types of nurse cell systems which
serve as source of continuous supply
of nutrients to the nematodes ?

(1) Meloidogune
(2) Heterodera
(3) Globodera
(4) All of these

VSVAA

98, Ui &SArAod e Kol Chisay $o0aKd
2B Koo FoRod HEA3 2500 e ?
(1) S¢S
(2) &HORHI0
(3) 5¢:He3 Bs30h
(4) 2.?3@2355’30

59 S0 S5%0E" 2 HANG Dot ETH0N ?
(1) oo
(2) 2.%e3
(3) Socdd
(4) Sad

99.

B1e3 Doy &) SOFOE’ 19083 &) (OB D530
OO0 ?

(1) BowS Ted HFBsRoN”

(2) ¢b w6 *

(3) T7¢ob Hooh

(4) =°¢xd p3S

rEBBF0S” Joes ereRd HTTROTVE
DD 2

(1) 3.8. 2806

(2) 3.0. STe

(3) 9.8). 3osd

(4) esb. 6

101.

102. 3:5065°E Goo%y, 2 27S3 FRERN 650 H6y

28 SSHe0 GO, 3D DT ED AoBTO
Fisee DEFOL SaTOOTT SIDITON ?
(1) DS CEKTD
(2) wme3bco
3) KB,
(4) EE’JEJJ
(D)
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103. In which of the following diseases of

plant chlorophyll of the leaves get
destroyed and leaves get shrinked ?

(1) Mosaic disease of tobacco
(2) Citrus canker

(3) Tundu disease of wheat
(4) Rhizoctonia

104. In which disease of plant stem rot at
soil line with brown to red lesions ?

(1) Rhizoctonia

(2) Angular leaf spot
(3) Bacterial blight
(4) Bacterial spot

29

VSVAA

| 103. 82808 ) 30K, TS estte .

652520 E0WVOROXFT 0N 9

(1) TS Q%) Ao0zranl s .
(2) R 55080

(3) A6 Ao, Boock T

(4) PEERar

104, 308}y 7060 BI0e0 Be T S Resos ssego
5508 DI Vo Beyy B082008,

(1) BEE AL
(2) Se3ad esH St
(3) emSOaDS Kootk

(4) zr&éao:beﬁ eS

105. Fungi and Bacteria usually enters | 105. 3DolFen, Eﬁﬁﬁoﬁ“ 5“(‘?{5&&?? A oo

through S3°0 9
(1) Stomata (1) S5 Soren -
(2) Wounds (2) éa-::::&g

(3) Hydathodes
(4) Insect puntyre

(4) 390§ Hogb

a

106. Seed coat peroxidase test is used for | 106. »& §%5 203 ER 5% 53 2087636 89 §%0

(1) Sorghum
(2) Wheat

(3) Soybean
(4) Grnuﬁdnut

107. Seed is a
(1) Immature embryo
(2) Mature embryo
(3) Developed embryo
(4) Undeveloped embryo

ESAATED 2
(1) &)

(2) Aesoss
(3) NoxrAS
(4) oK

107. 2830 &30
(1) exo5E oo
(2) 5058 dotio
(3) @85 DB 2OC50

4 5\O DO OO
(4) 95y Do D)
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108. All are dicotyledonous seeds except
(1) Mango
(2) Castor
(3) Rice
(4) Pea

30

VSVAA

108, &) Bxsedessond, a8l 8
(1) Srd
(2) 5080
(3) DXz
(4) 2o°

109. A gas required for germination of pea | 109. 2R DETO 205583 e SHERN TS0

seed 1s
(1) Nitrogen
(2) Oxygen
(3) Hydrogen
(4) Water vapours

(1) Sigesd
(2) esdyeo
(3) T Ees
(4) e3 &0

110. The fermented or distilled product of | 110. Sotse HPLHEIS S $35055 &850 BAS”

crops are used 1n
(1) Diesel engines
(2) Petrol engines
(3) Industries

(4) Machines

SSBFANS
(1) a=S O£
(2) 2SS 3o
(3) H0@E50L
(4) oXoEren

111. The main mode of extension in the | 111. B&od ey SHTTS” R AAGED (E00

‘farmers first’ model is
(1) Farmer to farmer
(2) Agent to farmer
(3) Research to agent
(4) Farmer to scientist

112. The largest plant cells are
(1) Xylem vessel cell
(2) Parenchyma cells
(3) Sieve tube cells
(4) Sclerenchyma fibers

(1) Bt K00s Do
(2) DBoeS Sood Do
(3) H50F°¢S ood dBoes
(4) Do 500G THNG

112, edg 30, geTe
(1) 28 oo ¥eo
(2) FrBoRIr° eTen
(3) exrged Sewo esBs
(4) 29,0003 by

(D)
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13. Who determines the minimum | 113. 509 2@%0 GO GrO8tiod a3 |
support price in India ? | Qo8 7
(1) The Commission for Agricultural (1) &15’51355 IO S5
Costs and Prices ' R (CACP) Saxo
(2) 355533"’&1) ﬁ)ﬂ@@s TP

(2) The Agriculture Ministry

(3) The Finance Commission
(4) NABARD

114. Which of the following is not a kharif
crop ?

(1) Mustard
(2) Jowar
(3) Paddy
(4) Soybean

115. Which of the following is a stimulant
crop ? |

(1) Wheat
(2) Maize
(3) Arhar
(4) Tea

116. The main function of cultivator is
(1) To turn the soil
(2) To make furrow in soil
(3) To pulverize the soil
(4) All above three functions

117. Function of the seed-drill is
(1) Making furrow
(2) Drﬂpping seeds .

(3) Covering the seeds in furrow
(4) All of the above

(3) 0% Sosvo (Finance Commission)
(4) wer§ (NABARD)

114. &3 200 738" 209 $0t> 598 9 9
(1) esorew.
(2) 5o
(3)
(4) FoXTDS

115. 00 T3S &3S B0 DA 9
(1) Feoso
(2) 30K,E"
(3) %ob
(4) BorrH

116. DTS o), 377 I
(1) 0630 Sdycso
(2) T80 Er308" Do Srytso
(3) 0639 S Basheso
(4) 8% 2T ) Sormed Aeoen -

117. %5—@5 A0, 3

(1) #Hido Daeso
(2) dgTren Do’
(3) M9S° Do Bgygso: T BT e
(4) :-EXJE)& T

(D)
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118. Which crop requires water-logging for
1ts cultivation ?
(1) Tea
(2) Coffee
(3) Rice
(4) Mustard

119. Primary resource for agriculture
(1) Land, air and water
(2) Seed, fertilizer and pesticide
(3) Seed, air and water
(4) Land, fertilizer and water

120. Climate pertains to a
(1) Long period of time
(2) Short duration
(3) Medium duration
(4) None [

] VSVAA

118. D Sotad ool o635 -erRoh e93C0 ?
(1) BaXrsH:
2) s
(3) D050

(4) esaren

119, SgS5r0XrdS Y P
(1) 2o, e Soboxo DS
(2) D550, e B0 S5OSO
(3) &S0, O 300000 et
(4) 2P0, Ao HoBak0 D6 -

120. or&r30€90 %5 502300008,

121. The practice of growing two or more
different types of crops in the same
field at the same time is called

(1) Crop rotation
(2) Monoculture
(3) Mixed cropping
(4) Field fallow

122. Stomata, present on the leaves are
surrounded by

(1) Chlorophyll
(2) Guard cells
(3) Pores
(4) Tubes

(1) 2obg s*00

(2) B5S D56
(3) 06 BINA
(4) D6 . |

121. 23 Fwos’ 23 Soaos’ Boc So° BoBE0E]
D535 G570 Hotowiso Hodow SEA
D00t ?

(1) &5 &85
(2) 55“5%&:35

(3) ES Doy -
4) oF F&°

122, ST, o BN 8082230083 €008 ?
1) $6%6.
(2) b Sewred
(3) Soren

(4) Aeyeo
(D)
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g | ’ VSvaa
remain vae “ §
one full season i eatled ant for 123. 2.8 J°0 SEEN [EBK:D ﬁ)eg Y
(1) Crop rotation &ﬂch;ﬁ&@t:iﬁ;é%gmw&a ?
G
(2) 2350% S0

(8) ¥g ¥
(4) rSENS

(2) Multiple Cropping
3) Field fallow
(4) Monocultyype

124. Which is the begt method to prevent

soil exosion 9 | 124. o S8 Jr00SEI &y 5358 ¢
(1) Deforestation (1) @8 AT
(2) Afforestation (2) @d21 Voo
(3) Heavy rainfall (3) 270 S0
) Waterlogging (4) =766 erhoi

125, Fruits which develo
p only from ovary | 125. 5085680 S5m0 wo
after fertilization are called e

oG S

DA ARl a bt} :
(1) Apomictic fruits | iﬁiﬁ 33-‘%5 i‘;gﬁm e
2) True fruits (2) DS St
(3) Parthenocarpic fruits l 3) 3"%‘5&9 8)S g‘:’do
(4) False fruits (4) B9y Socsy n
126. \:.;1:;1 ?amnng the following is not a 126. 208 Tre3&° 50 5°08 28 9
(1) Rice " 4
(2) Wheat ) ﬁ“gﬁ;
(3) Gram (3) o
(4) Maize (4) 008 F'Sy
1217. ‘:;7:151:: ?m India is irrigation done by | 127, 5885088 eFOEL) T IS FH
(1) Karnataka PO |
(2) Tamil Nadu g)) iﬁm
(3) Andhra Pradesh () soas
(4) All of the above (4) P

(D)
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128. Which one of the following is not a part
of the green revolution strategy ?

(1) High yielding varieties of seeds
(2) Fertilizer
(3) Irrigation

(4) Crop insurance

129. The technique that reduce the amount of
water consumption in crop cultivation

(1) Hydroponics
(2) Automated irrigation
(3) Macro-irrigation

(4) Micro-irrigation

130. Consider the following crops, which of 130. $08 Hotrwdd ﬁﬁ%j@oﬁ_pé

these are Kharif crops ?

A. Cotton
B. Groundnut

C. Rice

D. Wheat

(1) Aand D

(2) B and C only
(3) A, Band C
(4) B, Cand D

181. In India, cyclone is tracked through
which satellite ?

(1) INSAT

(2) IRS

(3) Ocean SAT

(4) None of the above

34

VSVAA

128. 588 D5 rgrod’ Sob IS 20 erlo
S0 9
(1) 8% KA 2GS 657
(2) dSope0
(3) QeI s
(4) Do AN

129, S0t 1S Ded QAT BAGD SSEEE.
(1) T EAFG
2) xS0k 3ohsS
(3) BrodBTHse
(4) E 3003

536" 209 Hotoew
DO,
A. 59
B. 3¢&0%K
C. Alevele
D. R0

(1) ASo8ao D

(2) B 508a%0 C Sovgaw
(3) A, B 508ak» C-
(4) B, C 5:8axw D

131, erESS’ BoPmiorw B4 Te3BeS oo
KOO 00.
(1) 3omyed
(2) 2363
(8) £50 vred
(4) D AN

(D)
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' . 3
132, percentage of drought prone area in 132. e,:ﬁcﬁoﬁé‘ EEOR) 268 (rogre S ot 0
the India 18 (1) 8%
(1) 8% (2) 30% /
e
0

29 D))
(4) None of the above 4) ? )

133. The cycle of disaster consists of the 133, D58 G308, 0eT0 (§io0 &4 $08 eo7merSs

following components “OR &0t2008,
(1) Mitigation, preparedneﬂﬂ, (1) &5%0%0, ::a:agé, BBy0653,
response, recovery ‘@:ﬁﬁagﬁm

(2) Preparedness, vulnerability

2) HONES, VOIS oK X
assessment, riﬁk ﬂSSEEEIﬂEHt, ( ) g ’@wﬁﬂoﬁm.

9)letalelar
recovery 4 o
(3) Mitigation, risk assessment, (3) &535080, (HSFE VOTT, (H0e:S
response and recovery 000 DN evalel
(4) None of the above (4) 2 2% T°)

134. One of the main reasons for farmers | 134, 3oen BB DESEIS H57 sers®
commit suicide in India is ' v

2803
(1) Crop failure (1) Sot Peser
(2) Earthquake (2) 2r%o%0
(3) Tsunami (3) Qoo
(4) All of the above (4) 25
135. Whali is called for the manuals that | 135. %) IS0 Vgrers® (S 9P o
1dentify th:e role of each officer in State 80 SVESVRNLEY S0 DO 2
for managing the natural disasters ?
(1) State Relief Manuals 3 %5585 ST
(2) State Environmenta] p ' :
2 -
Manls al Protection (2) Q;JE’S‘? S&ooﬁaeﬁ' LS S0
- (3) State Disaster Manuals . (3) el Gerd TR
(4) State Protection Manuals (4) 265 S Srogdedy

(D)
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+96. A pair of bullock develops power | 136, 2. 20t D koS B #§ B3 B3RO,
equivalent to e
(1) 0.5 hp (1) 0.5 S
(2) 1.0 hp 2) 1.037S
(3) 1.5 hy | @ 1swsy
(4) 2.0 hp (4) 2.0 S5
137. Grassed waterways are used as 137. KGS &raS BodrTed 3T
(1) Diversion channels &50ITAONREET"O.
(1) SoRo) W Ty
(2) Outlets (2) 5865
(3) Inlet to terrace system | (3) OB ;,rs;gﬁ}gg -.;@ef
(4) All are correct (4) &) $OND
| |
138. Before the Advent of machinery, farmers | 138. oXogisowen S50RRE S0 o%oen
used to help in farming. DFA0E’ BgSroKo Do T,
(1) Solar Energy (1) sds
(2) Astrology (2) @55@559
(3) Wind Pressure () ™® Hesso
(4) Domesticated Animals (4) 2o eoBoHen

139. Which of the following factors is/are | 139. §% Sogrssi g)gmm@*‘ 208 7°¢35° HO
img;m?:lxgt in determining erosion 59) S0 RoBB /S0P ?
yotential ° .
| (1) Seasonal distribution of rainfall (1) 350 gy, Sheriorbes Sodes
(2) Structural stability of the soil (2) Do B0, DO ?gﬁéﬁ
(3) Vegetation cover (3) ¥ D06 A
(4) All of the above (4) 5% - ’

140. Which of the following make a soil more | 140. 308 736" 28 50630 9 §°%65 100 Ti3908 ?

susceptible to wind erosion ? (1) 0B &s08e SHEXsS0
(1) High surface roughness ' .

(2) Standing stubble from harvested | (2) §% S'aXome JODS iR
crop
& polsoed
(3) High clay content (3) @8 woSog
(4) Low water content (4) 8%,% eI T

(D)
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"
%Thﬂ removal of weeds by ploughing is | 141. ﬁﬁa&iﬂgﬂ 0" $0R) ANKHYOR Smﬁmﬁmmcl

pl called
1) Mulching
(9) Fallowing
(3) Tilhng
(4) Contour farming

g, One of the following crops is the most
effectwe in controlling soil erosion

(1) Maize

(2) Cotton

(3) Green gram

(4) Pigeon pen

143. Rotation of crop 18 essential for
(1) Increasing fertility of soil
(2) Increasing quality of protein
(3) Increasing quality of minerals
(4) Getting different kinds of crops

144, Material deposited by flowing water is
called

(1) Alluvium

(2) Alluvival Fans
(3) Albedo

(4) None of these

145. Degraded zone includes the area with
heavy soil erosion

(1) Acacia modest -
(2) Capparis aphylla

(3) Salvadora oleoides

(4) All of the aboye

52363 e90edd ?

(1) E’JJ@JDE

(2) &'l

3) e3of/

(4) es%)d Sgdrao

1492, Bo S0 Jasodoidiod’ dod Soted® a,gej
@@Sﬁﬂ @aﬁ&ﬁﬁﬂéﬁiéﬁ

(1) okyE')
2) #d)

(3) e

(4) ¥eb Aow

| 148, ot 5r&)& A8 ede 9

(1) Vo ook, ardo WSS
(2) @3S oty Treagido oo
(3) e TrEss0 wowio

(4) DG 5o Sotswrdd Fotico

144, ESirod e oo e edhy Soo)
0.

(1) eos -
(2) 2ot Dot
(3) E@gﬁ

(4) e38° DB ¢

145. GRas &% b Jo 8% &) $ddo $OA
&otwod I oL,

(1) 5ot S

(2) §0R wper

(3) FroxEo e.dBTFoLE
(4) P

(D)
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B ss .-
146. Which type of parasite witch 146, D5-55 H 5e0s F6pe ?

weed 1s ? 1) 21013 e S
(1) Semi-root parasite 2) 10105 3OS

(2) Semi-stem parasite
(3) Root parasite
(4) Stem parasite

(3) &reS FSpeS
(4) R o)

B S e ergooiTd 5509
e90e T80 ?

(1) Doogo THS TS0

(2) o0 Ei“gao‘bc

(3) DK,© DEHOED 55200 ergoosr

(4) P S°E0

147. Pseudomonas putida is a bacteria | 147.
which is known as

(1) Plant pathogen

(2) Soil bacterium

(3) Plant growth prompting bacteria
(4) None of the above

$000 ?
148. Rice blast is caused by 148. B9 2R O Sg wdid

(1) Bacteria (1) aréﬁoi:“’"
(2) Fungus (2) $oKR
(3) Virus (3) OB
(4) Mycoplasma 4) @_553;31,&

149. The major storage fungi that effects the | 149. &5% grargd) Ber=)80 D BT @J%ﬁ PON.

food grain is (1) 3500 4
(1) Rhizobium (2) S5
(2) Mucor 5
(3) 2OERAT

(3) Cercospora |

(4) Aspergillus (4) QN

| 150. erd By, o ﬁ&ﬁ D0/ 2

150. Loose smut of barley is/are O
(1) gotath® v& 56,

(1) Internally seed borne 2
(2) Externally seed borne . (2) 2550 ~& 5°6)
(3) Soil borne - (3) Jrowd 5y

(4) All of these . (4) 35

(D)
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